DEVELOPMENT	CAT	TYPE	E AGREEMENT TITLE	SIGNING	COMN	EXCHANGE		
PARTNER				DATE	DP's CURRENCY USD		USD	RATE
1	2	3		5	6	7	8	9
JAPAN	PA	GRANT	THE PROJECT FOR IMPROVEMENT OF METEROROLOGICAL RADAR SYSTEM IN DHAKA AND RANGPUR	18.03.2015	YEN	24.000	0.233	0.009708
JAPAN	PA	GRANT	THE PROJECT FOR IMPROVEMENT OF SOLID WASTE MANAGEMENT EQUIPMENT	20.05.2015	YEN	1,486.000	12.460	0.008385
JAPAN	PA	GRANT	THE PROJECT FOR HUMAN RESOURCES DEVELOPMENT SCHOLARSHIP	31.05.2015	YEN	315.000	2.640	0.008381
JAPAN	PA	GRANT	THE PROJECT FOR IMPROVEMENT OF METEROROLOGICAL RADAR SYSTEM IN DHAKA AND RANGPUR	24.06.2015	YEN	2,881.000	23.940	0.008310
JAPAN	PA	LOAN	MATERNAL, NEONATAL AND CHILD HEALTH IMPROVEMENT PROJECT(PHASE-2) (HPNSDP)	29.06.2015	YEN	17,520.000	141.461	0.008074
JAPAN	PA	LOAN	FOREIGN DIRECT INVESTMENT PROMOTION PROJECT	29.06.2016	YEN	15,825.000	127.776	0.008074
JAPAN	PA	LOAN	WESTERN BANGLADESH BRIDGE IMPROVEMENT PROJECT	29.06.2017	YEN	29,340.000	236.899	0.008074
JAPAN	PA	LOAN	DHAKA-CHITTAGONG MAIN POWER GRID STRENTHENING PROJECT	29.06.2018	YEN	43,769.000	353.403	0.008074
JAPAN	PA	LOAN	URBAN BUILDING SAFETY PROJECT	29.06.2019	YEN	12,086.000	97.589	0.008075
JAPAN	PA	LOAN	UPAZILLA GOVERNANCE AND DEVELOPMENT PROJECT (TENTATIVE)	29.06.2020	YEN	14,725.000	118.894	0.008074
IDA	PA	GRANT	HEALTH,POPULATION AND NUTRITION SECTOR DEVELOPMENT PROGRAM (HPNSDP)	27.09.2014	US\$	37.552	37.552	1.000
IDA	PA	LOAN	SUPPORT IMPLEMENTATION OF THE REVNUE MOBILIZATION PROGRAM FOR RESULTS:VAT IMPROVEMENT PROGRAM	07.12.2014	SDR	38.800	60.000	1.546
IDA	PA	LOAN	THIRD PRIMARY EDUCATION DEVELOPMENT PROJECT 3(AF)	25.01.2015	SDR	269.800	400.000	1.483
IDA	PA	LOAN	MULTIPURPOSE DISASTER SHELTERS PROJECT(MDSP)	26.01.2015	SDR	253.700	375.000	1.478
IDA	PA	LOAN	INCOME SUPPORT PROGRAM FOR THE POOREST(ISPP)	09.02.2015	SDR	202.400	300.000	1.482
IDA	PA		SKILLS AND TRAINING ENHANCEMENT PROJECT	18.01.2015	US\$	3.622	3.622	1.000
IDA	PA	GRANT	HEALTH SECTOR DEVELOPMENT PROGRAM	08.02.2015	US\$	27.419	27.419	1.000
IDA	PA	GRANT	ENHANCING CAPACITY FOR URBAN POVERTY STATISTICS IN BANGLADESH	23.02.2015	US\$	0.300	0.300	1.000
IDA	PA	LOAN	SOCIAL INVESTMENT PROGRAM PROJECT 3 (NUTON JIBON)	05.05.2015	SDR	138.100	200.000	1.448
IDA	PA	LOAN	FINANCIAL SECTOR SUPPORT PROJECT	30.06.2015	SDR	213.400	300.000	1.406
IDA	PA	LOAN	BANGLADESH URBAN RESILIENCE PROJECT	30.06.2015	SDR	122.800	173.000	1.409
IDA	PA		RERED-II	22.04.2015	US\$	15.000	15.000	1.000
IDA	PA	GRANT	RERED-II	22.04.2015	US\$	2.230	2.230	1.000
OFID	PA	LOAN	THIRD URBAN GOVERNANCE AND INFRASTRUCTURE IMPROVEMENT SECTOR PROJECT	05.02.2015	US\$	40.000	40.000	1.000
OFID	PA	LOAN	TEESTA RIVER BRIDGE AND ACCESS ROAD PROJECT	29.06.2015	US\$	25.000	25.000	1.000
KADFD	PA	LOAN	IMPROVEMENT OF URBAN ROADS IN DHAKA NORTH CITY CORPORATION PROJECT	23.02.2015	KD	10.000	34.000	3.400
15.5		10:::	DOWED COID EVENICION DECISOT	40 40 204 1	LIC+	252.22-	222.22	
IDB	PA	LOAN	POWER GRID EXPANSION PROJECT	19.10.2014	US\$	220.000	220.000	1.000
IDB	PA	LOAN	RURAL ACCESS ROAD IN SYLHET PROJECT	11.06.2015	US\$	30.000	30.000	1.000
IDB IDB	PA PA		SUB-MARINE CABLE, PHASE-II PROJECT MEDICAL MOBILE UNITS FOR HEALTH CARE IN RURAL AREAS IN BANGLADESH	27.08.2014 17.052015	US\$ US\$	44.000 30.000	44.000 30.000	1.000
SFD	PA	LOAN	CONSTRUCTION OF 1490.00 M LONG PSC GRIDER BRIDGE ON PANCHPIR HAZAR-CHILMARI UPAZILA HEAD QUARTER ROAD OVER THE TEESTA RIVER AT SUNDARGANJ UPAZILA UNDER GAIBANDHA DISTRICT PROJECT	26.12.2014	SR	187.500	50.000	0.267

DEVELOPMENT	CAT	TYPE	AGREEMENT TITLE	SIGNING	COMMITMENT AMOUNT IN MILLION			EXCHANGE
PARTNER				DATE	DP's CURRENCY USD		USD	RATE
1	2	3		5	6	7	8	9
FAO	PA	GRANT	STRENGTHENING OF THE FOOD SECURITY CLUSTER (FSC) IN BANGLADESH THROUGH IMPROVED CLUSTER COORDINATION, INFORMATION MANAGEMENT, NEEDS ASSESMENT AND INTEGRATED PHASE CLASSIFICATION	2.072014	US\$	0.583	0.583	1.000
FAO	PA	GRANT	DEVELOPMENT OF STANDARDS AND SCHEME OD GOOD AGRICULTURE PRACTICE(GAP) IMPLEMENTATION AND CERTIFICATION IN COUNTRIES OF SAARC	02.07.2014	US\$	0.479	0.479	1.000
FAO	PA	GRANT	INCREASE FOOD AND NUTRITION SECURITY IN REMOTE AREAS OF CHT THROUGH RESILIENCE BUILDING MEASURES	13.11.2014	US\$	0.973	0.973	1.000
FAO	PA	GRANT	MEETING THE UNDER NUTRITION CHALLENGE(MUCH): STRENGTHENING THE ENABLING ENVIRONMENT FOR FOOD SECURITY AND NUTRITION	14.01.2015	US\$	20.140	20.140	1.000
FAO	PA	GRANT	STRENTHENING NATIONAL CAPACITY TO PREVENT AND CONTROL EMERGING AND RE-EMERGING PANDEMIC THREATS INCLUDING INFLUENZA A IN BANGLADESH	09.02.2015	US\$	1.500	1.500	1.000
FAO	PA		STRENTHENING NATIONAL FOREST INVENTORY AND SATELITE LAND MONITORING SYSTEM IN SUPPORT OF REDD+ IN RANGLADESH	18.03.2015	US\$	6.460	6.460	1.000
FAO	PA	GRANT	ENHANCING FOOD SECURITY THROUGH IMPROVED CROP WATER MANAGEMENT PRACTICES IN THE SOUTHERN COASTAL AREAS OF BANGLADESH	09.02.2015	US\$	0.500	0.500	1.000
FAO	PA	GRANT	DECISION SUPPORT FOR MAINSTREAMING AND SCALING UP OF SUSTAINABLE LAND MANAGEMENT	02.06.2015	US\$	0.250	0.250	1.000
UNEF	PA	GRANT	SMALL SCALE FUNDING AGREEMENT (SSFA) FOR PROJECT PREPARATION GRANT(PPG) FOR ECOSYSTEM-BASED APPROACHES TO ADAPTATION IN THE DROUGHT-PRONE BARIND TRACT AND HAOR WETLAND AREA	14.07.2014	US\$	0.100	0.100	1.000
UNESCO	PA	GRANT	CLIMATE CHANGE EDUCATION FOR SUSTAINABLE DEVELOPMENT(CCESD)	24.09.2014	US\$	0.120	0.120	1.000
						-	-	
UNDP	PA		KNOWLEDGE FOR DEVELOPMENT MANAGEMENT(K4DM) ACTIVATING VILLAGE COURTS IN BANGLADESH	28.09.2014	US\$	3.000	3.000	1.000
UNDP UNDP	PA PA		ENVIRONMENTALLY SOUND MANAGEMENT AND DISPOSAL OF PCBS AND MEDICAL WASTES	13.11.2014 14.11.2014	US\$ US\$	15.000 0.045	15.000	1.000 0.000
UNDP	PA		RENEWAL OF INSTITUTIONAL STRENGTHENING FOR THE PHASE-OUT OF ODS (PHASE-VII)	14.12.2014	US\$	0.130	0.130	1.000
UNDP	PA		STRENGTHENING AGRICULTURE MARKET INFORMATION SYSTEMS IN BANGLADESH	31.12.2014	US\$	0.847	0.847	1.000
UNDP	PA		INTEGRATING COMMUNITY-BASED ADAPTATION INTO AFFORESTATION AND DEFORESTATION PROGRAMES IN BANGLADESH	27.05.2015	US\$	5.650	5.650	1.000
UNDP	PA		NATIONAL CAPACITY DEVELOPMENT FOR IMPLEMENTING RIO CONVENTION THROUGH ENVIRONMENTAL GOVERNANCE	27.05.2015	US\$	1.320	1.320	1.000
UNDP	PA		UN-REDD BANGLADESH NATIONAL PROGRAMME	27.05.2015	US\$	2.300	2.300	1.000
UNDP	PA		INCLUSIVE BUDGETTING & FINANCING FOR CLIMATE RESILIENCE	30.06.2015	US\$	2.200	2.200	1.000
UNDP	PA	GRANT	EXPANDING THE PROTECTED AREA SYSTEM TO INCORPORATE IMPORTANT AQUATIC ECOSYSTEM PROJECT	30.06.2015	US\$	10.130	10.130	1.000
						-	-	

DEVELOPMENT PARTNER	CAT	TYPE	TYPE AGREEMENT TITLE	SIGNING DATE	COMMITMENT AMOUNT IN MILLION			EXCHANGE RATE
		2				s CURRENCY	USD	
1	2	3	MONITORING THE CITHATION OF SHIP STORY	5	6	7	8	9
UNICEF	PA		MONITORING THE SITUATION OF CHILDREN AND WOMEN	31.08.2014	US\$	0.844	0.844	1.000
UNICEF	PA		EARLY LEARNING CHILD DEVELOPMENT PROJECT (ELCDA)	19.082014	US\$	5.000	5.000	1.000
UNICEF	PA	GRANT	CAPACITY DEVELOPMENT FOR MONITORING AND REPORTING TO INCREASE THE EFFECTIVE COVERAGE OF BASIC SOCIAL SERVICES(ECBSS) OF CHILDREN AND WOMEN IN BANGLADESH	16.10.2014	US\$	0.700	0.700	1.000
UNICEF	PA	GRANT	CAPACITY DEVELOPMENT OF FINANCE DIVISION AND SOCIAL SECTOR MINISTRIES FOR CHILD-FOCUSED BUDGETING AND REPORTING TO REDUCE EQUITY GAPS IN BASIC SOCIAL SERVICE DELIVERY FOR CHILDREN IN	21.05.2015	US\$	0.840	0.840	1.000
UNIDO			ENVIRONMENTALLY SOUND MANAGEMENT AND DISPOSAL	04.11.2014	US\$	0.045	0.045	1.000
ONIDO			OF PCBS AND MEDICAL WASTES	04.11.2014	035	0.043	0.043	1.000
ILO	PA	GRANT	COUNTRY LEGAL ENGAGEMENT ASSISTANCE TO REDUCE CHILD LABOUR(CLEAR)	21.06.2015	US\$	0.380	0.380	1.000
IMO	PA	GRANT	IMPROVING ACCESS TO HEALTH AND WATSAN SERVICE ALONG WITH COMMUNITY AWARENESS/ENPOWERMENT IN COX'S BA7AR	08.01.2015	US\$	6.040	6.040	1.000
UNEP	PA	GRANT	SMALL SCALE FUNDING AGREEMENT FOR PREPARING ESTABLISHMENT NATIONAL LAND USE AND LAND DEGRADATION PROFILE PROJECT PROPOSAL GRANT(PPG) FOR ECOSYSTEM-BASED APPROACHES TO ADAPTATION IN THE DROUGHT-PRONE BARIND TRACT AND HAOR	29.12.2014	US\$	0.183	0.183	1.000
WFP	PA	GRANT	ASSISTANCE TO REFUGEES FROM MYANMAR:PRRO 200673	06.08.2014	US\$	5.870	5.870	1.000
ADB	PA	GRANT	TECHNICAL ASSISTANCE FOR SASEC RAILWAY CONNECTIVITY INVESTMENT PROGRAM	15.12.2014	US\$	1.500	1.500	1.000
ADB	PA	GRANT	SKILLS FOR EMPLOYMENT INVESTMENT PROGRAM (TRANCH-1)	19.01.2015	US\$	10.000	10.000	1.000
ADB	PA	GRANT	STUDY ON ENERGY SECURITY	19.02.2015	US\$	1.000	1.000	1.000
ADB	PA	GRANT	SUPPORT PROCESSING OF SECOND SASEC BANGLADESH- INDIA ELECTRIC GRID INTERCONNECTION PROJECT	24.12.2014	US\$	0.023	0.023	1.000
ADB	PA	GRANT	SUPPORTING NATURAL GAS DEVELOPMENT & DISTRIBUTION PROJECT	18.12.2014	US\$	1.000	1.000	1.000
ADB	PA	LOAN	RAILWAY SECTOR INVESTMENT PROGRAM(MFF \$430 MILLION) (TRANCHE 3)	06.08.2014	US\$	100.000	100.000	1.000
ADB	PA	LOAN	IRRIGATION MANAGEMENT IMPROVEMENT PROJECT	14.08.2014	SDR	29.551	46.000	1.557
ADB	PA		FLOOD AND RIVERBANK EROSION RISK MAANAGEMENT INVESTMENT PROGRAM (TRANCHE 1)	14.08.2014	SDR	41.755	65.000	1.557
		GRANT			US\$	15.300	15.300	1.000
ADB	PA	LOAN	THIRD URBAN GOVERNANCE AND INFRASTRUCTURE IMPROVEMENT INVESTMENT PROGRAM (TRANCHE 1)	27.08.2014	SDR	81.128	125.000	1.541
ADB	PA	LOAN	THIRD PRIMARY EDUCATION DEVELOPMENT PROGRAM(ADDITIONAL FINANCING)	08.06.2015	SDR	87.533	120.000	1.371
ADB	PA	LOAN	SUB REGIONAL RAILWAY CONNECTIVITY AKHHAWARA LAKSHAM DOUBLE TRACK PROJECT	25.06.2015	US\$	400.000	400.000	1.000
ADB	PA	LOAN	SUB REGIONAL RAILWAY CONNECTIVITY AKHHAWARA LAKSHAM DOUBLE TRACK PROJECT	25.06.2015	SDR	68.138	105.000	1.541
SWEEDEN	PA	GRANT	PERSONNEL AND CONSULTANCY FUND	07.07.2014	SKR	2.500	0.370	0.148
JVVLLDLIN	1 🖰	UNAINI	I ENSONNEL AND CONSOLIANCI I UND	07.07.2014	JININ	2.300	0.570	0.140

DEVELOPMENT PARTNER	CAT	TYPE	AGREEMENT TITLE	SIGNING DATE	COMMITMENT AMOUNT IN MILLION			EXCHANGE RATE
		_			_	CURRENCY	USD	
1	2	3	CUMANTE CUANCE ADARTATION AND MITIGATION	5	6	7	8	9
DENMARK	PA	GRANT	CLIMATE CHANGE ADAPTATION AND MITIGATION PROJECT(CCAMP)	18.08.2014	DKK	80.000	14.650	0.183
DENMARK	PA	GRANT	SUPPLY AND INSTALLATION OF 33/11 KV ELECTRICAL SUB STATION FOR SUSTAINABLE POWER SOLUTION AT SAIDARAD WTP PHASE II	20.08.2014	EURO	1.700	2.270	1.335
DENMARK	PA	GRANT	SAIDA BAD WATER SUPPLY TREATMENT PLANT PROJECT	20.08.2014	EURO	1.704	2.275	1.335
IFAD	PA	GRANT	CLIMATE ADAPTATION AND LIVELIHOOD IMPROVEMENT PROJECT(CALP) A SUPPLEMENTARY PROJECT OF HAOR INFRASTRUCTURE AND LIVELIHOOD IMPROVEMENT PROJECT(HILIP)	04.09.2014	SDR	9.000	15.000	1.667
IFAD	PA	LOAN	PROMOTING AGRICULTURAL COMMERCIALIZATION AND ENTERPRISES PROJECT (PACE)	11.12.2014	SDR	26.350	39.640	1.504
		GRANT			US\$	0.360	0.360	1.000
DFID	PA	GRANT	STRENGTHENING GOVERNMENT SOCIAL PROTECTION SYSTEMS FOR THE POOR(SGSP) PROJECT	11.11.2014	GBP	9.270	15.020	1.620
DFID	PA	GRANT	SKILLS AND EMPLOYMENT PROGRAM IN BANGLADESH(SEP-	11.11.2014	GBP	21.630	35.060	1.621
DFID	PA	GRANT	BUSINESS FINANCE FOR POOR PROGRAM IN BANGLADESH(BFP-B)	25.01.2015	GBP	22.500	36.470	1.621
						-	-	
GERMANY	PA	LOAN	POWER TRANSMISSION IMPROVEMENT PROGRAMME	15.12.2014	EURO	45.000	54.706	1.216
(KFW) GERMANY	PA	GRANT	CLIMATE CHANGE ADAPTATION IN URBAN AREA (CCAUA)	15.02.2015	EURO EURO	15.000 0.400	18.236 0.433	1.216 1.083
(KFW)	PA		ADDITIONAL FUNDING FOR FEASIBILITY STUDY HEALTH,POPULATION AND NUTRITION SECTOR	16.04.2015	EURO	18.000	20.227	1.124
	PA	GRAINT	DEVELOPMENT PROGRAM(HPNSDP)	10.04.2013	EURU	18.000	20.227	1.124
EU	PA	GRANT	EU SUPPORT TO HEALTH AND NUTRITION OF THE POOR IN URBAN BANGLADESH	17.12.2014	EURO	25.200	30.636	1.216
EIB	PA	GRANT	TA PROJECT ON POWER SECTOR EXPANSION AND EFFICIENCY IMPROVEMENT INVESTMENT PROGRAM	04.06.2015	EURO	2.500	2.809	1.124
BELARUS	PA	LOAN	QUADRILATERAL FINANCING AGREEMENT FOR PROCURING EQUIPMENT FOR ORGANIZATIONS UNDER LOCAL GOVERNMENT DIVISION	12.05.2015	US\$	50.000	50.000	1.000
FRANCE (AFD)	PA	LOAN	DHAKA ENVIRONMENTAL SUSTAINABLE WATER SUPPLY PROJECT(DESWSP)	29.01.2015	EURO	47.000	64.000	1.362
FRANCE (AFD)	PA	LOAN	GREATER DHAKA SUSTAINABLE URBAN TRANSPORT PROJECT(DTCA)	22.04.2015	EURO	40.000	44.440	1.111
FRANCE (AFD)	PA	GRANT	TECHNICAL ASSISTANCE TO GREATER DHAKA SUSTAINABLE URBAN TRANSPORT PROJECT (DTCA)	22.04.2015	EURO	2.850	3.680	1.291
FRANCE (AFD)	PA	LOAN	CONSTRUCTION OF NEW 132/133 AND 33/11 KV SUBSTATION UNDER DPDC	01.06.2015	EURO	100.000	127.000	1.270
GERMANY (GIZ)	PA	GRANT	PROMOTION OF THE CLIMATE CHANGE UNIT IN COORDINATING THE BANGLADESH CLIMATE CHANGE STRATEGY AND ACTION PLAN	15.09.2014	EURO	4.000	5.075	1.269
GERMANY (GIZ)	PA	GRANT	SUPPORT TO THE HEALTH SECTOR PROGRAMME II (SHSP II)	19.01.2014	EURO	2.000	2.165	1.083
GERMANY (GIZ)	PA	GRANT	SUPPORT TO PSES' EFFORTS TO ENSURE DEVELOPMENT IN THE TEXTILE INDUSTRY (SPEED)	31.12.2014	EURO	0.400	0.486	1.215
GERMANY (GIZ)	PA	GRANT	CLIMATE FINANCE READINESS PROGRAM (CF READY)	08.06.2015	EURO	0.500	0.562	1.124
SWITZERLAND	PA	GRANT	INSTITUTIONALIZATION OF INTEGRATED WATER RESOURCES MANAGEMENT (IWRM) PROCESS IN COMPLIANCE WITH BD WATER ACT 2013	09.07.2014	CHF	0.400	0.420	1.050

DEVELOPMENT PARTNER	CAT	TYPE	AGREEMENT TITLE	SIGNING DATE		MITMENT AMOUNT	IN MILLION USD	EXCHANGE RATE
1	2	3		5	6	7	8	9
SOUTH KOREA (KOICA)	PA	20/111	BHANDAR JURI WATER SUPPLY PROJECT OF CHITTAGONG WASA	26.11.2014	WON	105,909.450	97.000	0.001
SOUTH KOREA (KOICA)	PA		ESTABLISHMENT OF THE E-GOVERNMENT MASTER PLAN FOR DIGITAL BANGLADESH	29.12.2014	WON	3,424.000	3.200	0.001
SOUTH KOREA (KOICA)	PA		EYE HEALTH PROMOTION AND PREVENTION OF BLIDNESS IN SELECTED AREAS OF BANGLADESH	29.12.2014	WON	9,464.000	8.450	0.001
TOTAL							5,258.46	
TOTAL PROJECT AID (GRANT)							487.74	
TOTAL PROJECT AID (LOAN)							4,764.81	
TOTAL FOOD AID (GRANT)								